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UNIT 3 LESSON 6

Do Now:

Directions: Consider the following compound sentence: x + y = 10andy = 2x + 1.

1. Circle all the ordered pairs (x, y) that are solutions to the equation x + y = 10.
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2. Underline all the ordered pairs (x, y) that are solutions to the equationy = 2x + 1.
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3. List the ordered pair(s) (x,y) from above that are solutions to the compound sentence x + y = 10 and
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AIM: Solving Systems of Equations Graphically

4, Graphx + y = 10andy = 2x + 1 on the same set of coordinate axes.
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5. On the set of axes below, solve the following system of equations graphically. State the coordinates of the solution.
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6. When solved graphically, which system of equations will have exactly one point of intersection?
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7. On the set of axes below, solve the following system of equations graphically. State the coordinates of the solution.
y=4x=-1
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8. On the set of axes below, solve the following system of equations graphically. State the coordinates of the solution.

y-x=I 4 |
y+2x=10 %
U—X= l W +IX=10 //47»
+ X X ECE SIC e A
=X | = = Rt =1
a7 . \
M= M=-2% 4 v mm—
D—-:- I b-:—'o ]{" \"_‘r“
sduhon (3.4)|  HEA &

9. Explain what it means to solve systems of equations graphically.
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